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Marks : 40

" PART — A

.* HAT — & 3t @ 40
Note : Attempt all the twenty questions. Each question carries 2 marks. Answer should
not exceed 15 words. )
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i 1 Define the fine of collimation in a Theodolite.

RrieeiEe @ @ara @ &t afeaar AR

Write down the errors which are eliminated by balancing back sight and foresights.
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3 Define Resection in Plane Table surveying.

= Yad gdaw o Tlwew @ wiemn S|

{Contd...

0611 |
(LS L



-
'
i
:
‘

4 Write down the expression [or correction for lemperature for a (ape with usual notation :-;.

WA B0 AN ¥ amEe g @ T gafdq dehadt & @y e

5 Write the formula to calculate the area by Simpson's rule with usual notations.
ﬁmmq%fﬁuqzﬂrﬁm?%waﬂ%mmiﬁmm%anq?ua%aﬁﬁwﬁasnmiﬁh&
6 What is Mid-ordinate in Simple Circutar Curve ? Write formula also,
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3 7 Write down four principal mineral compounds in Portland cement.

Geavs AWz % uR ger @i diftel & T faian
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8 Define flakiness index of aggregates.
iR 5 wanE () wEsw @ gionar QR
9 Differentiate blistering and peeling of plaster.
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16 Define orographic precipitation.

gty Tl @ ufvamn S

H  Write down expression for exit gradient as per Khosla's theory.
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12 Define Trap efficiency.
0 wme @ gt QR
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13 Give significance ol Transition curves,

e O @ suaiian fae |

14 Write two main advantages of rigid pavements over flexible pavements.
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15 Define the ‘speed' and 'density’ of a (raffic stream.
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16 Differentiate between on-street and ofi-street parking facilities.
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{7 Wiite down the acceptable standards of total dissolved solids, chlorides, fluorides an
pitrates in potable water as per Indian standards in mg/L
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{8 Write the expresston for horse power of a pump in relation with the head and dischar;
with usual notations.

mﬁeﬁﬂmﬁ%méﬁ'ﬂ%@("ﬁé}a%&aﬁ(m)%smaﬁﬁ-ﬁmﬂ’f%a
fafd !

e

06 [-l' 1. 8 [Cont
| | | [T




19  Define Bio-chemical oxygen demand.

S aEhe sEdeE (e g S afemn fd
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20 Write down the type of reactions taking place in septic tanks and its detention time.
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PART - B Marks : 60

M - q 3F ¢ 60

Note : Attempt all the twelve questions. Each question carries 5 marks. Answer should
not exceed 30 words.
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21 Describe the permanent adjustment of horizonial axis of theodolite.

g s aeitar & @ gwaE & 99 Bl

22 Describe the Bowdich's method of balancing the traverse.

i (T @) dgee & Qi Rfa @ avie @y

0611 ] . 10 ' . {Contd...

VO B




23 What are the points to be considered in deciding contour interval ?
e Yaiaas &t P wer § fe R Rregel @ e e e ¢

24 Describe "water-cement ratio law" given by Professor Abrams.’

drpat oW B RA W o AN e Fret @ T sl
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25 Compare ‘Critical Path Method' and 'Program Evaluation and Review Technique'
(CPM. and PER.T)
Refraa e Bus gul WM SAERIE 9 e dedE B gEEn i

26 Compare Lacey's and Kennedy's theories.
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29  Describe various road gradients.
wsw & Al ol @ avd &l

30 Briefly describe theory of sedimentation and write the stoke's equation with usual

notations.

W%%@amﬁ%ﬂﬁwﬁammmﬁmwmﬁaﬁﬂ@

o o6_1] | 14  [Contd...
; . | - | - 0 P 0




[Contd..,
H_llﬂl!lﬂ[llﬂl["ll!lﬂl[ i

14 /1 06-l




PART - C Marks : 100

UM - g FFE ;100
Note : Attempt any 5 questions. Each question carries 20 marks. Answer should not exceed
200 words.
e B W 4« U DA UAF U7 & WU o i (uild Bl Ia¥ oo 9 @
it TE w il
33 The following staff readings were observed successively with a level, the instrument

having been moved after third, sixth and eighth readings.

2.220, 1.605, 0.900, 2.090, 2.865, 1.260, 0.600, 1.980, 1.045, 2.685 metres.

Enter the above readings in a page of level book and calculate the reduced level of
points by rise and fall method if the first readings was a back sight on a bench mark
of 432.380 m.

Frfifas yeais & & I] TF =% W 99 T TA AR B AW, B T Ao

AT & T| Jom@ ™ A

2.220, 1.605, 0.900, 2.000; 2.865, 1.260, 0.600, 1.980, 1.045, 2.685 Hex|
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34 Describe defects in Timbers with neat sketches.
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35 Following Khosla's theory, write expression for the uplift pressure at salient points E, D
wn stream pile as shown in the sketches. Also,

and C of an intermediate pile and a do
write the expression for exit aradient {only in the case of down stream pile)
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36 Describe the consumptive use of water and only enumerale the factors on which it depends.
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37  Describe the construction of Water Bound Macadam (W.B.M.) road.
qrex wE Whed (WBM) we@ & bt @& aiem gt
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and rising main (n a water supply scheme.

S § Sl 6% o A@H §g)

38 Describe the procedure for the design ol a pump
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ny of 150 persons with a rate of water supply as

Design a septic tank for a small colo
d of two years The depth of tank may be taken

150 LPCD. Assume the cleanng perio

as 1.5 m and the length - width ratio as 3:1.
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